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B.A./B.Sc. 4th Semester (Honours) Examination, 2019 (CBCS)
Subject : Geography
Paper : CC-10

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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Section-A

(Short Answer type)

1. Answer any five questions. 2x5=10
fasferiie @ oy Aisfo 2 Te wie |
(a) What is ‘Gaia’ hypothesis?
‘Gaia’ o7 32
(b) Detine ‘Ecosphere’.
‘Ecosphere’-49 7@l @0 |

(c) Define non-biodegradable wastes with examples.

TRz Sied R wReaE JeeE @Il |
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(d) Define ‘Climax Community’.

W FTEmE-aq e @t

(e) What is ‘Ramsar Convention’?
AT AT 2

(f) What do you mean by Productivity of Ecosystem?
AFFA BeoAFIETOl TS T (AN 2

(g) Write down the full forms of UNEP and IUCN.
UNEP @ IUCN 93 3 Fsl (el |
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(h) What are the main sources of water pollution?
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Section-B

(Short Answer type)

2. Answer any two questions. 5%2=10
e @ @ 7 s ew we |
(a) Differentiate degradation from pollution. What is AQI? 3+2=5
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(b) Whatis ‘Deep Ecological Approach’ in Environmental Studies? Define ‘Environmentalism’.
3+2=5
AT R ‘Deep Ecological’ Te41F =i el | ARG Fge! @ |

(c) Define Environmental Ethics. Discuss about the different Environmental policies related to
Forest Conservation. 2+3=5

AR o kel Tl el skEw ey Jior ek =ik @]

(d) Briefly explain the process of transfer of energy within the Ecosystem. What is Lindeman’s

(1942) Principle of Energy transfer? 34+2=5
WESE e 2RI TIE Aol (70 | #fea 29z TS Lindeman (1942)-a3 "
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Section-C

(Broad Answer type)

3. Answer any two questions. % 10x2=20
e @ @ 7 eeiw Tea wis |

(a) Whatis Environmental Perception? How the Perception of Environment changed in different

stages of human civilization? 2+8=10
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(b) What are the causes and measures of degradation of air quality? Write down about the
consequences of the same. 6+4=10
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(3) ASH-IV/Geography/CC-10/19
(¢) Define biodiversity. Discuss about the causes for the loss of biodiversity in recent years
in the World. 2+8=10
(o Caforare wikest el | Rioe o Teew Res tor @i i meleft e el
S
(d) What is waste management? Write down the different problems associated with urban waste
disposal. 2+8=10
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